

A NEW REFINEMENT OF JENSEN-TYPE INEQUALITY WITH RESPECT TO UNIFORMLY CONVEX FUNCTIONS WITH APPLICATIONS IN INFORMATION THEORY

YAMIN SAYYARI*, HASAN BARSAM* AND LOREDANA CIURDARIU

(Communicated by S. Abramovich)

Abstract. In this paper, we establish a new refinement of Jensen-type inequality for uniformly convex functions. Furthermore, we apply those results in information theory and we obtain strong and more precise bounds for Shannon’s entropy.

1. Introduction and preliminaries

Jensen’s inequality probably plays a vital role in some aspect of mathematics (such as inequality, indeed arithmetic-geometric mean inequality, Hermite-Hadamard inequality, Hölder inequality, Minkowski inequality, and Ky Fan’s inequality), statistics, and information theory (such as approximate bound of entropies) and etc.

The well-known Jensen’s inequality (see [7], [17], [18], [19]) for convex function asserts that:

Let $f : I \longrightarrow \mathbb{R}$ be a convex function. Then the inequality

$$f\left(\sum_{i=1}^n p_i x_i\right) \leq \sum_{i=1}^n p_i f(x_i)$$

holds for each convex combination $\sum_{i=1}^n p_i x_i$ of points $x_i \in I$ (interval I).

DEFINITION 1.1. ([8]) Assume that X is a random variable. Also, the range $R = \{x_1, \dots, x_n\}$ is a the probability distribution of point p_i , $i = 1, \dots, n$, $p_i > 0$, then the Shannon entropy $H(X)$ defined by

$$H(X) = - \sum_{i=1}^n p_i \log p_i.$$

The following definitions can be found in [3, 4, 15, 20, 21].

Mathematics subject classification (2020): 26A51, 26B25, 26D20, 26D15, 26D10.

Keywords and phrases: Jensen’ inequality, uniformly convex, Shannon’s entropy.

* Corresponding author.

DEFINITION 1.2. Let $f : [a, b] \rightarrow \mathbb{R}$ be a function. Then f is uniformly convex if there exists $\phi : [0, +\infty) \rightarrow [0, +\infty)$ with $\phi(t) \geq 0$ and vanishes only at 0, and

$$f(\alpha x + (1 - \alpha)y) + \alpha(1 - \alpha)\phi(|x - y|) \leq \alpha f(x) + (1 - \alpha)f(y)$$

for every $\alpha \in [0, 1]$ and $x, y \in [a, b]$. The function ϕ is called the modulus of f . Also, if $\phi(x) = cx^2$ then f is called strongly convex with modulus c .

THEOREM 1.1. [12] Let $f : I \rightarrow \mathbb{R}$ be an uniformly convex function with modulus $\phi : \mathbb{R} \rightarrow [0, +\infty)$ on I , $\{x_k\}_{k=1}^n \subseteq [a, b]$ be a sequence and let π be a permutation on $\{1, \dots, n\}$ such that $x_{\pi(1)} \leq x_{\pi(2)} \leq \dots \leq x_{\pi(n)}$. Then the inequality

$$f\left(\sum_{k=1}^n p_k x_k\right) \leq \sum_{k=1}^n p_k f(x_k) - \sum_{k=1}^{n-1} p_{\pi(k)} p_{\pi(k+1)} \phi(x_{\pi(k+1)} - x_{\pi(k)}) \tag{1.1}$$

holds for every convex combination $\sum_{k=1}^n p_k x_k$ of points $x_k \in I$.

2. Main results

In the following theorem we obtain new bound for Jensen’s inequality with respect to uniformly convex functions. The proof techniques in this section are similar to the proof techniques in [12].

THEOREM 2.1. Let f be a uniformly convex function and $1 \leq k \leq n$. If $x_1 \leq x_2 \leq \dots \leq x_n$ (or $x_n \leq \dots \leq x_2 \leq x_1$). Then

$$\begin{aligned} & f\left(\sum_{i=1}^n p_i x_i\right) + p_k(1 - p_k)\phi\left(\left|\frac{\sum_{i=1, i \neq k}^n p_i x_i}{1 - p_k} - x_k\right|\right) \\ & \leq (1 - p_k)f\left(\frac{\sum_{i=1, i \neq k}^n p_i x_i}{1 - p_k}\right) + p_k f(x_k) \\ & \leq \sum_{i=1}^n p_i f(x_i) - \sum_{i=1, i \neq k, k-1}^{n-1} \frac{p_i p_{i+1}}{1 - p_k} \phi(x_{i+1} - x_i) \\ & \quad - \frac{p_{k-1} p_{k+1}}{1 - p_k} \phi(x_{k+1} - x_{k-1}), \end{aligned}$$

where $p_0 p_2 \phi(x_2 - x_0) = p_{n-1} p_{n+1} \phi(x_{n+1} - x_{n-1}) = 0$, $p_0 = p_{n+1} := 0$, $x_0 := x_2$, $x_{n+1} := x_{n-1}$.

Proof. Assume that $1 \leq k \leq n$ then

$$\begin{aligned} f\left(\sum_{i=1}^n p_i x_i\right) &= f\left(\left(1 - p_k\right) \frac{\sum_{i=1}^n p_i x_i - p_k x_k}{1 - p_k} + p_k x_k\right) \\ &\leq (1 - p_k)f\left(\frac{\sum_{i=1}^n p_i x_i - p_k x_k}{1 - p_k}\right) + p_k f(x_k) \\ &\quad - p_k(1 - p_k)\phi\left(\left|\frac{\sum_{i=1}^n p_i x_i - p_k x_k}{1 - p_k} - x_k\right|\right) \end{aligned}$$

Let us first assume that $x_1 \leq x_2 \leq \dots \leq x_n$. By the use of Theorem 1.1, we get

$$\begin{aligned} & (1 - p_k)f\left(\frac{\sum_{i=1}^n p_i x_i - p_k x_k}{1 - p_k}\right) + p_k f(x_k) \\ &= (1 - p_k)f\left(\frac{\sum_{i=1, i \neq k}^n p_i x_i}{1 - p_k}\right) + p_k f(x_k) \\ &\leq (1 - p_k)\left[\frac{\sum_{i=1, i \neq k}^n p_i f(x_i)}{1 - p_k} - \sum_{i=1, i \neq k, k-1}^{n-1} \frac{p_i p_{i+1}}{(1 - p_k)^2} \phi(x_{i+1} - x_i)\right. \\ &\quad \left. - \frac{p_{k-1} p_{k+1}}{(1 - p_k)^2} \phi(x_{k+1} - x_{k-1})\right] + p_k f(x_k) \\ &\leq \sum_{i=1}^n p_i f(x_i) - \sum_{i=1, i \neq k, k-1}^{n-1} \frac{p_i p_{i+1}}{1 - p_k} \phi(x_{i+1} - x_i) \\ &\quad - \frac{p_{k-1} p_{k+1}}{1 - p_k} \phi(x_{k+1} - x_{k-1}). \end{aligned}$$

Similarly, the results hold if $x_n \leq \dots \leq x_2 \leq x_1$. \square

Another result with respect to Jensen’s inequality as follows:

THEOREM 2.2. *Assume that f is a uniformly convex function with modulus ϕ also, $x_1 \leq x_2 \leq \dots \leq x_n$ with $1 < k < n - 1$ then*

$$\begin{aligned} & f\left(\sum_{i=1}^n p_i x_i\right) + \sum_{i=1}^{k-1} p_i p_{i+1} \phi(x_{i+1} - x_i) + p_k s_k \phi(x_{k+1} - x_k) \\ &\leq s_k f\left(\frac{1}{s_k} \sum_{i=k+1}^n p_i x_i\right) + \sum_{i=1}^k p_i f(x_i) \\ &\leq \sum_{i=1}^n p_i f(x_i) - \frac{1}{s_k} \sum_{i=k+1}^n p_i p_{i+1} \phi(x_{i+1} - x_i), \end{aligned}$$

where $s_k = \sum_{i=k+1}^n p_i$.

Proof. Let $x_1 \leq x_2 \leq \dots \leq x_n$, $1 < k < n - 1$. We have

$$\begin{aligned} I &= f\left(\sum_{i=1}^n p_i x_i\right) \\ &= f\left[\left(\sum_{i=k+1}^n p_i\right) \left(\frac{\sum_{i=1}^n p_i x_i - \sum_{i=1}^k p_i x_i}{\sum_{i=k+1}^n p_i}\right) + \sum_{i=1}^k p_i x_i\right]. \end{aligned}$$

In view of Theorem 1.1 we obtain

$$\begin{aligned}
 I &\leq \left(\sum_{i=k+1}^n p_i \right) f \left(\frac{\sum_{i=k+1}^n p_i x_i}{\sum_{i=k+1}^n p_i} \right) + \sum_{i=1}^k p_i f(x_i) - \sum_{i=1}^{k-1} p_i p_{i+1} \phi(x_{i+1} - x_i) \\
 &\quad - p_k \left(\sum_{i=k+1}^n p_i \right) \phi \left(\frac{\sum_{i=k+1}^n p_i x_i}{\sum_{i=k+1}^n p_i} - x_k \right) \\
 &\leq \sum_{i=k+1}^n p_i f(x_i) - \frac{1}{\sum_{i=k+1}^n p_i} \sum_{i=k+1}^{n-1} p_i p_{i+1} \phi(x_{i+1} - x_i) + \sum_{i=1}^k p_i f(x_i) \\
 &\quad - \sum_{i=1}^{k-1} p_i p_{i+1} \phi(x_{i+1} - x_i) - p_k \left(\sum_{i=k+1}^n p_i \right) \phi \left(\frac{\sum_{i=k+1}^n p_i x_i}{\sum_{i=k+1}^n p_i} - x_k \right).
 \end{aligned}$$

Finally, according to the following relations

$$x_1 \leq x_2 \leq \dots \leq x_{k+1} \leq \frac{\sum_{i=k+1}^n p_i x_i}{\sum_{i=k+1}^n p_i}, \quad \frac{\sum_{i=k+1}^n p_i x_i}{\sum_{i=k+1}^n p_i} - x_k \geq x_{k+1} - x_k,$$

and this fact that ϕ is increasing we conclude the result. \square

PROPOSITION 2.1. Assume that f is a uniformly convex function with modulus ϕ , $1 \leq k \leq n$, $x_1 \leq \dots \leq x_n$ then

$$\begin{aligned}
 &f \left(\frac{\sum_{i=1}^n x_i}{n} \right) + \frac{n-1}{n^2} \phi \left(\left| \frac{\sum_{i=1, i \neq k}^n x_i}{n-1} - x_k \right| \right) \\
 &\leq \frac{n-1}{n} f \left(\frac{\sum_{i=1, i \neq k}^n x_i}{n-1} \right) + \frac{1}{n} f(x_k) \\
 &\leq \frac{1}{n} \sum_{i=1}^n f(x_i) - \frac{1}{n(n-1)} \sum_{i=1, i \neq k, k-1}^{n-1} \phi(x_{i+1} - x_i) - \frac{1}{n(n-1)} \phi(x_{k+1} - x_{k-1}),
 \end{aligned}$$

where $\phi(x_2 - x_0) = \phi(x_{n+1} - x_{n-1}) = 0$.

Proof. In Theorem 2.1 put $p_i = \frac{1}{n}$, $i = 1, \dots, n$. \square

LEMMA 2.1. Let $\Phi : I \rightarrow \mathbb{R}$ be a twice-differentiable function and let

$$m := \inf \{ \Phi''(c) : c \in I \}.$$

Then $\Phi(x) - \frac{m}{2}x^2$ is a convex function on I .

In particular if $m > 0$ then Φ is strongly convex, that is, Φ is uniformly convex with modulus $\phi(u) = \frac{m}{2}u^2$.

Proof. It is obvious that ϕ is increasing and vanishes only at 0. We consider two fixed points $c, d \in I$ and define

$$\varphi(\lambda) := \lambda \Phi(c) + (1 - \lambda) \Phi(d) - \Phi(\lambda c + (1 - \lambda)d) - \frac{m\lambda(1 - \lambda)}{2} (c - d)^2$$

for all $\lambda \in [0, 1]$. Now, we show that $\Phi(\lambda) \geq 0$, for all $\lambda \in [0, 1]$. Since $\Phi(0) = \Phi(1) = 0$ and

$$\frac{d^2\Phi}{d\lambda^2} = m(c-d)^2 - (d-c)^2\Phi''(\lambda c + (1-\lambda)d) \leq 0,$$

$\Phi(\lambda) \geq 0$ for every $c, d \in [\mu, \nu]$ and $\lambda \in [0, 1]$. Hence,

$$\lambda\Phi(c) + (1-\lambda)\Phi(d) \geq \Phi(\lambda c + (1-\lambda)d) + \frac{m\lambda(1-\lambda)}{2}(c-d)^2.$$

Therefore, the proof is complete. \square

For example, it can be shown that the function $f(x) = \log x$, $x \in [1, d]$ satisfies

$$m = \inf\{f''(c) : c \in [1, d]\} = -1.$$

Therefore, $g(x) = \log x - \frac{m}{2}x^2 = \log x + \frac{1}{2}x^2$ is a convex function on $[1, d]$.

EXAMPLE 2.1. [12] If $a \geq 0$ and $f : [a, b] \rightarrow \mathbb{R}$ defined by

$$f(x) = \begin{cases} x \log(x) & \text{if } x \neq 0 \\ 0 & \text{if } x = 0 \end{cases}$$

then f is strongly convex with modulus $c := \frac{1}{2b}$.

THEOREM 2.3. Assume that $X = \{p_1, \dots, p_n\}$, $1 \leq k \leq n$ and $p_1 \leq \dots \leq p_n$ then

$$\begin{aligned} & H(X) + \frac{1}{2(n-1)} \left[\sum_{i=1}^{n-1} (p_{i+1} - p_i)^2 + (p_{k+1} - p_{k-1})^2 \right] \\ & \leq (1 - p_k) \log \frac{n-1}{1-p_k} - p_k \log p_k \\ & \leq \log n - \frac{(1 - np_k)^2}{2n(n-1)}, \end{aligned}$$

where $p_0 := p_2$, $p_{n+1} := p_{n-1}$.

Proof. Using Lemma 2.1 the function $f(x) = x \log x$ on $[a, b]$ is uniformly convex with modulus $\phi(r) = \frac{r^2}{2b}$. In Proposition 2.1, put $f(x) = x \log x$, $x_i = p_i$, $a = 0$, $b = 1$ then by some calculus we have

$$\begin{aligned} & \frac{1}{n} \log \frac{1}{n} + \frac{n-1}{n^2} \frac{\left(\frac{1-p_k}{n-1} - p_k\right)^2}{2} \\ & \leq \frac{n-1}{n} \times \frac{1-p_k}{n-1} \log \frac{1-p_k}{n-1} + \frac{1}{n} p_k \log p_k \\ & \leq -\frac{1}{n} H(X) - \frac{1}{n(n-1)} \times \frac{\sum_{i=1, i \neq k, k-1}^{n-1} (p_{i+1} - p_i)^2}{2} \\ & \quad - \frac{1}{n(n-1)} \times \frac{(p_{k+1} - p_{k-1})^2}{2}. \quad \square \end{aligned}$$

In the following propositions we give new bounds for the Shannon entropy $H(X)$.

PROPOSITION 2.2. *Let X be a random variable as in Theorem 2.3 with $p_1 \leq p_2 \leq \dots \leq p_n$. Then*

$$H(X) \leq \log n - \frac{(1 - np_k)^2}{2n(n - 1)}$$

for each $1 \leq k \leq n$.

Proof. This is an easy consequence of Theorem 2.3. \square

PROPOSITION 2.3. *Assume that $X = \{p_1, \dots, p_n\}$ is a random variable.*

1. *If $p_1 \leq p_2 \leq \dots \leq p_n$, $1 \leq k \leq n$ then*

$$\begin{aligned} H(X) &+ \frac{p_1^2}{2(1 - p_k)} \sum_{i=1, i \neq k, k-1}^{n-1} \frac{(p_{i+1} - p_i)^2}{p_i p_{i+1}} + \frac{p_1^2}{2(1 - p_k)} \times \frac{(p_{k+1} - p_{k-1})^2}{p_{k+1} p_{k-1}} \\ &\leq (1 - p_k) \log \frac{n - 1}{1 - p_k} - p_k \log p_k \\ &\leq \log n - \frac{p_1^2}{2p_k(1 - p_k)} (np_k - 1)^2, \end{aligned}$$

where $p_2 = p_0$, $p_{n+1} = p_{n-1}$.

2. *Let $\mu = \min_{1 \leq i \leq n} \{p_i\}$. Then*

$$H(X) \leq \log n - \frac{\mu^2}{2p_k(1 - p_k)} (np_k - 1)^2$$

for each $1 \leq k \leq n$.

Proof.

1. Assume that $p_1 \leq p_2 \leq \dots \leq p_n$. Let $x_i = \frac{1}{p_i}$. By the use of Lemma 2.1 in [12]

the function $f(x) = -\log x$ is uniformly convex with modulus $\phi(r) = \frac{p_1^2 r^2}{2}$ on $[1, \frac{1}{p_1}]$. Now, put $f(x) = -\log x$ in Theorem 2.1 then by some calculus we have

$$\begin{aligned} &-\log n + p_k(1 - p_k) \times \frac{p_1^2}{2} \times \left(\frac{n - 1}{1 - p_k} - \frac{1}{p_k} \right)^2 \\ &\leq (1 - p_k) \log \frac{1 - p_k}{n - 1} + p_k \log p_k \\ &\leq -H(X) - \sum_{i=1, i \neq k, k-1}^{n-1} \frac{p_i p_{i+1}}{1 - p_k} \times \frac{p_1^2}{2} \times \left(\frac{1}{p_i} - \frac{1}{p_{i+1}} \right)^2 \\ &\quad - \frac{p_{k-1} p_{k+1}}{1 - p_k} \times \frac{p_1^2}{2} \times \left(\frac{1}{p_{k-1}} - \frac{1}{p_{k+1}} \right)^2, \end{aligned}$$

which completes the proof.

2. Straightforward from 1. \square

Proof. This follows from Proposition 2.3. \square

PROPOSITION 2.4. *If f is a uniformly convex with modulus ϕ and $x_1 \leq x_2 \leq \dots \leq x_n$ with $1 < k < n - 1$ then*

$$\begin{aligned} & f\left(\frac{\sum_{i=1}^n x_i}{n}\right) + \frac{1}{n^2} \sum_{i=1}^{k-1} \phi(x_{i+1} - x_i) + \frac{n-k}{n^2} \phi(x_{k+1} - x_k) \\ & \leq \frac{n-k}{n} f\left(\frac{1}{n-k} \sum_{i=k+1}^n x_i\right) + \frac{1}{n} \sum_{i=1}^k f(x_i) \\ & \leq \frac{1}{n} \sum_{i=1}^n f(x_i) - \frac{1}{n(n-k)} \sum_{i=k+1}^{n-1} \phi(x_{i+1} - x_i). \end{aligned}$$

Proof. For proof of the theorem, put $p_i = \frac{1}{n}$, $1 \leq i \leq n$ in Theorem 2.2. \square

THEOREM 2.4. *Assume that $p_1 \leq \dots \leq p_n$, $1 < k < n - 1$ then*

$$\begin{aligned} & H(X) + \frac{1}{2(n-k)} \sum_{i=k+1}^{n-1} (p_{i+1} - p_i)^2 \\ & \leq s_k \log \frac{n-k}{s_k} - \sum_{i=1}^k p_i \log p_i \\ & \leq \log n - \frac{1}{2n} \sum_{i=1}^{k-1} (p_{i+1} - p_i)^2 - \frac{n-k}{2n} (p_{k+1} - p_k)^2. \end{aligned}$$

Proof. In view of Lemma 2.1 the function $f(x) = x \log x$ on $[0, 1]$ is strongly convex with modulus $c = \frac{1}{2}$. In Proposition 2.4 put $f(x) = x \log x$ and $x_i = p_i$ for each $i = 1, \dots, n$ we have

$$\begin{aligned} & \frac{1}{n} \log \frac{1}{n} + \frac{1}{n^2} \frac{1}{2} \sum_{i=1}^{k-1} (p_{i+1} - p_i)^2 + \frac{n-k}{2n^2} (p_{k+1} - p_k)^2 \\ & \leq \frac{n-k}{n} \frac{\sum_{i=k+1}^n p_i}{n-k} \log \left(\frac{\sum_{i=k+1}^n p_i}{n-k} \right) \\ & \quad + \frac{1}{n} \sum_{i=1}^k p_i \log p_i \leq -\frac{1}{n} H(X) - \frac{1}{n(n-k)} \frac{1}{2} \sum_{i=k+1}^{n-1} (p_{i+1} - p_i)^2, \end{aligned}$$

which completes the proof. \square

COROLLARY 2.1. *Assume that $p_1 \leq \dots \leq p_n$, $1 < k < n - 1$ then*

$$H(X) \leq \log n - \frac{n-k}{2n} (p_{k+1} - p_k)^2.$$

COROLLARY 2.2. *Let f be a uniformly convex function on I , $x_1, \dots, x_n \in I$ and $x_n \leq \dots \leq x_2 \leq x_1$, $1 \leq k \leq n - 1$. Then*

$$\begin{aligned} & f\left(\sum_{i=1}^n p_i x_i\right) + \sum_{i=1}^{k-1} p_i p_{i+1} \phi(x_{i+1} - x_i) + p_k s_k \phi(x_k - x_{k+1}) \\ & \leq s_k f\left(\frac{1}{s_k} \sum_{i=k+1}^n p_i x_i\right) + \sum_{i=1}^k p_i f(x_i) \\ & \leq \sum_{i=1}^n p_i f(x_i) - \frac{1}{s_k} \sum_{i=k+1}^{n-1} p_i p_{i+1} \phi(x_i - x_{i+1}), \end{aligned}$$

where $s_k = \sum_{i=k+1}^n p_i$.

Proof. It follows from Theorem 2.2. \square

THEOREM 2.5. *Assume that $p_1 \leq p_2 \leq \dots \leq p_n$ then*

$$\begin{aligned} & H(X) + \frac{p_1^2}{2} \sum_{i=k+1}^{n-1} \frac{(p_{i+1} - p_i)^2}{p_i p_{i+1}} \\ & \leq s_k \log \frac{n-k}{s_k} - \sum_{i=1}^k p_i \log p_i \\ & \leq \log n - \frac{p_1^2}{2} \sum_{i=1}^{k-1} \frac{(p_{i+1} - p_i)^2}{p_i p_{i+1}} - \frac{p_1^2}{2} p_k s_k \left(\frac{1}{p_k} - \frac{1}{p_{k+1}}\right)^2. \end{aligned}$$

Proof. If $p_1 \leq \dots \leq p_n$ then in view of [[12], Lemma 2.1] the function $f(x) = -\log x$ on $[1, \frac{1}{p_1}]$ is a uniformly convex with modulus $\phi(r) = \frac{p_1^2 r^2}{2}$. In Corollary 2.2 put $f(x) = -\log x$, $x_i = \frac{1}{p_i}$ for each $1 \leq i \leq n$ we have

$$\begin{aligned} & -\log n + \sum_{i=1}^{k-1} p_i p_{i+1} \frac{p_1^2}{2} \left(\frac{1}{p_{i+1}} - \frac{1}{p_i}\right)^2 + p_k s_k \left(\frac{1}{p_k} - \frac{1}{p_{k+1}}\right)^2 \\ & \leq -s_k \log \left(\frac{n-k}{s_k}\right) + \sum_{i=1}^k p_i \log p_i \\ & \leq \sum_{i=1}^n p_i \log p_i - \frac{1}{s_k} \sum_{i=k+1}^{n-1} p_i p_{i+1} \frac{p_1^2}{2} \left(\frac{1}{p_i} - \frac{1}{p_{i+1}}\right)^2 \end{aligned}$$

which $s_k = \sum_{i=k+1}^n p_i$. \square

Some applications to special means will be presented below.

REMARK 2.1. Under conditions of Proposition 2.4 (and Theorem 2.2), we have

$$\begin{aligned}
 & f(\mathcal{A}(x_1, x_2, \dots, x_n)) + \frac{k-1}{n^2} \cdot \mathcal{A}(\phi(x_2 - x_1), \phi(x_3 - x_2), \dots, \phi(x_k - x_{k-1})) \\
 & \quad + \frac{n-k}{n^2} \phi(x_{k+1} - x_k) \\
 & \leq \frac{n-k}{n} f(\mathcal{A}(x_{k+1}, x_{k+2}, \dots, x_{k+n})) + \frac{k}{n} \mathcal{A}(f(x_1), f(x_2), \dots, f(x_k)) \\
 & \leq \mathcal{A}(f(x_1), f(x_2), \dots, f(x_n)) \\
 & \quad - \frac{n-k-1}{n(n-k)} \mathcal{A}(\phi(x_{k+2} - x_{k+1}), \phi(x_{k+3} - x_{k+2}), \dots, \phi(x_n - x_{n-1})),
 \end{aligned}$$

where $\mathcal{A}(x_1, x_2, \dots, x_n) = \frac{x_1 + x_2 + \dots + x_n}{n}$ is the arithmetic mean of the numbers x_1, x_2, \dots, x_n .

EXAMPLE 2.2. If $c \in [0, 1]$ then the function $f(x) = (1-x)^2$, $x \in [a, b]$ is strongly convex with modulus c .

Proof. For $x, y \in [a, b]$ we define $F : [0, 1] \rightarrow \mathbb{R}$ by

$$F(t) := t(1-x)^2 + (1-t)(1-y)^2 - (1-tx - (1-t)y)^2 - ct(1-t)(x-y)^2.$$

It is obvious that F is twice-differentiable on $[0, 1]$ and

$$F''(t) = 2(y-x)^2(c-1) \leq 0,$$

for every $t \in [0, 1]$. On the other hand, $F(0) = F(1) = 0$, thus $F(t) \geq 0$ for every $t \in [0, 1]$ or f is strongly convex with modulus c . \square

EXAMPLE 2.3. The function $f(x) = x^3$, $x \in [1, 2]$ is uniformly convex with modulus $\phi(t) = t^3$.

Proof. For $x, y \in [1, 2]$ we define $F : [0, 1] \rightarrow \mathbb{R}$ by

$$F(t) := (tx + (1-t)y)^3 + t(1-t)|x-y|^3 - tx^3 - (1-t)y^3.$$

It is obvious that F is twice-differentiable on $[0, 1]$ and

$$F''(t) = 2(x-y)^2(3(tx + (1-t)y) - |x-y|) \geq 0,$$

for every $t \in [0, 1]$. On the other hand, $F(0) = F(1) = 0$, thus $F(t) \leq 0$ for every $t \in [0, 1]$ or f uniformly convex with modulus $\phi(t) = t^3$. \square

REMARK 2.2. If $p_1 \leq p_2 \leq \dots \leq p_n$, then by using Proposition 2.1 for the function $f(x) = (1 - x)^2$ with $x_i = p_i$, $a = 0$, $b = 1$, we have

$$\begin{aligned} & \frac{(\sum_{i=1}^n (1 - p_i))^2}{n^2} + c \frac{1}{n^2} \frac{(\sum_{i=1, i \neq k}^n (p_i - p_k))^2}{n - 1} \\ & \leq \frac{1}{n} \frac{(\sum_{i=1, i \neq k}^n (1 - p_i))^2}{(n - 1)} + \frac{1}{n} (1 - p_k)^2 \\ & \leq \frac{1}{n} \sum_{i=1}^n (1 - p_i)^2 - \frac{c}{n(n - 1)} \sum_{i=1, i \neq k, k-1}^{n-1} (p_{i+1} - p_i)^2 - \frac{c}{n(n - 1)} (p_{k+1} - p_{k-1})^2, \end{aligned}$$

where $p_0 = p_2$, $p_{n+1} = p_{n-1}$.

REMARK 2.3. Under conditions of Proposition 2.1 for the strongly convex function $f(x) = x^2$ with modulus $c = 1$, we have

$$\begin{aligned} & \frac{(\sum_{i=1}^n (x_i))^2}{n^2} + \frac{1}{n^2} \frac{(\sum_{i=1, i \neq k}^n (x_i - x_k))^2}{n - 1} \\ & \leq \frac{1}{n} \frac{(\sum_{i=1, i \neq k}^n (x_i))^2}{(n - 1)} + \frac{x_k^2}{n} \\ & \leq \frac{1}{n} \sum_{i=1}^n x_i^2 - \frac{1}{n(n - 1)} \sum_{i=1, i \neq k, k-1}^{n-1} (x_{i+1} - x_i)^2 - \frac{1}{n(n - 1)} (x_{k+1} - p_k)^2. \end{aligned}$$

REMARK 2.4. Under conditions of Proposition 2.4 for the strongly convex function $f(x) = -\log x$ with modulus $\phi(r) = \frac{p_1^2 r^2}{2}$ on $[1, \frac{1}{p_1}]$, we have

$$\begin{aligned} & \log \frac{\mathcal{A}(x_1, x_2, \dots, x_n)}{\mathcal{A}^{\frac{n-k}{n}}(x_{k+1}, x_{k+2}, \dots, x_n)} \\ & \geq \frac{k}{n} \log G(x_1, x_2, \dots, x_k) + \frac{p_1^2}{2n^2} \left[\sum_{i=1}^{k-1} (x_{i+1} - x_i)^2 + (n - k)(x_{k+1} - x_k)^2 \right], \end{aligned}$$

and

$$\frac{n - k}{n} \log \mathcal{A}(x_{k+1}, x_{k+2}, \dots, x_n) + \log \frac{G_n^k(x_1, x_2, \dots, x_k)}{G(x_1, x_2, \dots, x_n)} \geq \frac{p_1^2}{2n(n - k)} \sum_{i=k+1}^{n-1} (x_{i+1} - x_i)^2,$$

when $x_1 \leq x_2 \leq \dots \leq x_n$, $x_i \geq 0$ and $1 < k < n - 1$.

REMARK 2.5. Under conditions of Proposition 2.4 for the strongly convex func-

tion $f(x) = \frac{1}{x}$, $x \in [\lambda_1, \varepsilon_1]$ with modulus $c \in (0, \frac{1}{\varepsilon_1^3})$, $\phi(r) = cx^2$, we have

$$\begin{aligned} & \frac{1}{\mathcal{A}(x_1, x_2, \dots, x_n)} + \frac{c}{n^2} \sum_{i=1}^{k-1} (x_{i+1} - x_i)^2 + c \frac{n-k}{n^2} (x_{k+1} - x_k)^2 \\ & \leq \frac{(n-k)^2}{n} \frac{1}{\mathcal{A}(x_{k+1}, x_{k+2}, \dots, x_n)} + \frac{k}{n} \frac{1}{H(x_1, \dots, x_k)} \\ & \leq \frac{1}{H(x_1, \dots, x_n)} - \frac{c}{n(n-k)} \sum_{i=k+1}^{n-1} (x_{i+1} - x_i)^2, \end{aligned}$$

where $H(x_1, \dots, x_n) = \frac{n}{\frac{1}{x_1} + \dots + \frac{1}{x_n}}$ when $x_1 \leq x_2 \leq \dots \leq x_n$, $x_i > 0$ and $1 < k < n - 1$.

REFERENCES

- [1] M. ADIL KHAN, M. HANIF, Z. A. KHAN, et al., *Association of Jensen's inequality for s-convex function with Csiszar divergence*, J. Inequal. Appl., **2019** (2019), 1–14.
- [2] H. BARSAM, A. R. SATTARZADEH, *Hermite-Hadamard inequalities for uniformly convex functions and Its Applications in Means*, Miskolc Math. Notes, **21** (2) (2020), 621–630.
- [3] H. BARSAM, Y. SAYYARI, *On some inequalities of differentiable uniformly convex mapping with applications*, Numer. Funct. Anal. Optim. **44** (2) (2023), 368–381.
- [4] H. H. BAUSCHKE, P. L. COMBETTES, *Convex analysis and monotone operator theory in Hilbert Spaces*, Springer-Verlag, 2011.
- [5] T. M. COVER AND J. A. THOMAS, *Elements of Information Theory*, Jhon Wiley and Sons, Inc., 2006.
- [6] S. S. DRAGOMIR, *A converse result for Jensen's discrete inequality via Grüss inequality and applications in information theory*, An. Univ. Oradea. Fasc. Mat. **7** (1999–2000), 178–189.
- [7] S. S. DRAGOMIR, *Bounds for the normalized Jensen functional*, Bull. Austral. Math. Soc. **74** (2006), 471–478.
- [8] S. S. DRAGOMIR AND C. J. GOH, *Some bounds on entropy measures in Information Theory*, Appl. Math. Lett. **10** (3) (1997) 23–28.
- [9] M. A. POPESCU, E. SLUSANSCHI, *A new bound in information theory*, Networking in Education and Research Joint Event RENAM 8th Conference, 11–13 Sept. 2014, [doi:10.1109/RoEduNet-RENAM.2014.6955301](https://doi.org/10.1109/RoEduNet-RENAM.2014.6955301).
- [10] Y. SAYYARI, *An improvement of the upper bound on the entropy of information sources*, Journal of Mathematical Extension, **15** (5) (2021), 1–12.
- [11] Y. SAYYARI, *New bounds for entropy of information sources*, Wavelet and Linear Algebra, **7** (2) (2020), 1–9.
- [12] Y. SAYYARI, *New entropy bounds via uniformly convex functions*, Chaos, Solitons and Fractals, **141** (1) (2020), 110360.
- [13] Y. SAYYARI, *New refinements of Shannon's entropy upper bounds*, Journal of Information and Optimization Sciences, **42** (8) (2021), 1869–1883.
- [14] Y. SAYYARI AND H. BARSAM, *Hermite-Hadamard type inequality for m-convex functions by using a new inequality for differentiable functions*, J. Mahani Math. Res. Cent. **9** (2), (2020), 55–67.
- [15] Y. SAYYARI, H. BARSAM, A. R. SATTARZADEH, *On new refinement of the Jensen inequality using uniformly convex functions with applications*, Appl. Anal. (2023), 1–10, <https://doi.org/10.1080/00036811.2023.2171873>.
- [16] S. SIMIC, *Jensen's inequality and new entropy bounds*, Appl. Math. Lett. **22** (8) (2009), 1262–1265.
- [17] S. SIMIC, *On an upper bound for Jensen's inequality*, Journal of Inequalities in Pure and Applied Mathematics, vol. 10, no. 2, article 60, 5 pages, 2009.
- [18] S. SIMIC, *On a global upper bound for Jensen's inequality*, J. Math. Anal. Appl., **343** (1) (2008), 414–419.

- [19] L. XIAO, G. LU, *A new refinement of Jensen's inequality with applications in information theory*, *Open Mathematics*, vol. 18, no 1 (2020), 1748–1759.
- [20] C. ZALINESCU, *Convex analysis in general vector spaces*, World Scientific Publishing Co. Inc., River Edge, NJ, 2002.
- [21] C. ZALINESCU, *On uniformly convex functions*, *J. Math. Anal. Appl.*, **95** (1983), 344–374.

(Received August 7, 2022)

Yamin Sayyari
Department of Mathematics
Sirjan University of Technology
Sirjan, Iran
e-mail: y.sayyari@gmail.com

Hasan Barsam
Department of Mathematics
Faculty of Science, University of Jiroft
P.O. Box, 78671-61167, Jiroft, Iran
e-mail: hasanbarsam@ujiroft.ac.ir

Loredana Ciurdariu
Department of Mathematics
Politehnica University of Timisoara
300006 Timisoara, Romania
e-mail: loredana.ciurdariu@upt.ro